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HEFEE
AUE. HEE H= 6.00m OLEHOBEFEETS 3. H o0&
NL= 0.40 t , ML= 0.00 t.m , Mw= 4.04 t.m
ny BEEEE F O  wWl= 30 kg/m"2 Qw= 0.92 t , MT= 0.00 t.m
SEHE  W2= 40 kg/m
$841 [J-175#175%6 h= 6.00 m
A= 89.6 cm"2 , Z= 213 cm"4 , i= 6.9 cm
S < ) A
_ B s-Yoo A= 2h/i = 175 < 200 fke =1.60 t/cm"2
rﬂzj . (B-2t)/t = 27 < 48 fkb =1.60 t/cm"2
. fs =0.90 t/cm"2
3 a = NL/(Axfke) = 0.006
5 Pl b = ML/ (Z%fkb) = 0.000
- m c = Mw/(Z#*1.5%fkb) = 0.791
) Il TT = MT#t/(2%t"2%(B-1)"2) = 0.000 t/m"2
I d = TT/(1.5%fs) = 0.000
” e = QW/(2#t%(B-2%t)%1.5%fs) = 0.035
0
3 d H atb+c+d = 0.797 < 1 .. O.K.
a3 H d+e = 0.035 < 1 .. O.K.
i |
il
|
l
i
1
g |
5 ]
) oo
B E BAOBRE ci= 1.2
EEE h=16m QIFH g0= 60*SQR(h)

RE SN @

BE N

h>16m OIFE q0=120%SQR(SQR(h))

D q0=120 &9 3,
e (h= 5.50 m) q0= 141 kg/m"2
& W (b= 4,00 m Q0= 120 kg/m"2

NL=( 5.175 )% 0.030
+ 6 % 0.040 = 0.40 t

PO= 1.2 %0.141% 0.175% 6 = 0.18 ¢t

Pl1= 1.2 %0.120% 5.18 = 0.75 t

Mw= 0.18% 6.00+ 0.75% 4.00
= 4.04 t

a3

A

1
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BEEHEDY 4 X [O- 175% 175% 6.0% 6.0

BHE—X 2P M

1. RCH#B

O Z
T

B WrE BsD

N/BD = 0.2
Pt (%)= 0.13

W % D16

3 $p (em)= 15.0

QA=fsbj(t)= 17.

AQ/bj = 0.00

7

1C1 WTHRHNT 3
4.1¢t.m) e
3.
0.4(ty ' 1B & &R
o =2/3 BT Ty IR H=M/j= 24.260 t/ém
= 50 % 50 (cm) h >>a -H/(fa-» )= 39.9 cm
h >=a -40-d = 42.7 cm

M/bD"2 = 3.3
at(cm™2)= 3.18

X3, ¥- 3

Q
#|

/faj(cm)= 0.9
£ O.K.

Pw(%)= 0.20

M HOOP 2-D10 @ 100

2. B

B XN—ZAFL—}
W 7YH—RN}
aay 2 y—r oy

occ = N/(BxD) =

BDIN—=RTL— DR

it

0.

4

fb = (F/1.3)%1.5 =2769

D Le

Ae 868.0 cm™2

Y7 H—HRNLFDE

s

L >= d0-£t/(8-fa)

L >= 30-40

DE¥ AW AT 348
FA = 0.4-N = 0.
FA+n-a0-fs-0.75

£t

Na

t-SQR(fb/(3-fcli=

33.
36.

PL-12% 310% 310

4-M12 (L= 360)

=< 120.0 " 0.K.

kg/cm”2
3.33 cm
Ae-fc = 104.2 0.K.

B O k->-THEESYWE 45 cm & T 3

b) BELIHLD HoOOP ‘

T /Fe = at-rft/(h-b'-Fec) = 0.036
Pw = 0.2095v (7 /Fc)-Fe/((1-2.779y (1t /Fc))-wft)

0.2095%2%0.036%180/((1-2.779%2%0.086)%3000)
0.11 >

B 2-Dl10 @ 100
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